" TAZHZ HMEPHZIOY ENIAIOY AYKEIOY
NMAPAZKEYH 10 IOYAIOY 2009
AMANTHZEIZ XTHN
ANANTY=H EOAPMOIQN zE
NMPOrPAMMATIZTIKO NEPIBAAAON
TEXNOAOTINIKHZ KATEYOYNZHZ

OEMA 1°

A.1. ZwoTo,
. Nabog,
. \abog,
. 2WOTO,
. \abocg.

NnhLwWN

B.a. X—-3
B. MNaiano 1 péxpr 5
Z[i]X
TéAog_snavaAnyng
Y. Eppavioe Z[1],Z[2]
8. Q—(Z[14]1+2[15])/2
€. Eppavioe Z[X]
la. A>=5 ka1 B<7
B. A<5 n B>=7
A.1.a. BA. oxoAikd BiBAio § 10.2. (oeAida 207)
B. BA. axoAiko BiBAio § 10.2. (oeAida 207)
A.2.a. (OXI (3+1*3>10)) KAI (15 MOD (3-1)=1)
B. (OXI (6>10)) KAI (1=1)
Y. (OXI WEYAHS) KAI (AAHOHE)

0. AAHOHZ

rneisi



rneisi

OEMA 2°
A.
Ap18uoc EvToAng X X>1 X mod 2=0
1 5
2 AAnBNg
3 Weudnc
6 16
2 AAnbriq
3 AAnbnc
4 8
2 AAn6ng
3 AAnBnc
4 4
2 AAnBNg
3 AAnbnc
4 2
2 AAnbniq
3 AAnbnc
4 1
2 Weudnc
/ AIABAZE X /
B.
v
OXI X>1 NAI
OXI NAI

A 4

Xe3*X+1 XX div 2




rneisi

OEMA 3°
AAyop10p0g Babuoloyia
MNaiano 1 péxpr 780
Epgavioe "Awote Babuoug”
MiaBaoe B[780,1],B[780,2]
Av (B[780,1]-B[780,2])>12 fj (B[780,2]-B[780,1])>12 TéTE
Epgavioe "AwoTe TpiTo Babud”
AiaBaoe B[780,3]
aAAiwg
B[780,3]-1
Téhog_av
TéAog_gnavaAnyng

MNaiano 1 péxpr 780
Av B[780,3]=-1 TOTE
T[i]<(B[780,1]+B[780,2])/10
aAAiwg
Av B[780,1]>B[780,2]
T[i]—(B[780,1]+B[780,3])/10
aAAiwg
T[i](B[780,2]+B[780,3])/10
TéAog_av
Télog_av
TéAog_snavaAnyng

Naiand 1 yéxpi 6
kat[i]<0
TéAog_enavaAnyng

MNaiano 1 péxpr 780
Av T[i]<5 TOTE
kat[1]««kaT[1]+1
aAhiwg_av T[i]<10 TOTE
kat[2]««kaT[2]+1
aAhiwg_av T[i]<12 TOTE
kaT[3]«—kaT[3]+1
aAhiwg_av T[i]<15 TOTE
kat[4]«<«kaT[4]+1
aAhiwg_av T[i]<18 TOTE
kaT[5]«kaTt[5]+1
aAliog
kaT[6]«— kaT[6]+1
TéAog_av
TéAog_enavaAnyng

max«—kaT[1]
MNaiano 2 péxpi 6
Av kat[i]>max TOTE
max«—KaT[i]
Téhog_av
TéAoG_gnavaAnyng

MNaiano 1 péxpr 6
Av kat[i]=max TOTE
EpPavioe kartli]
Téhog_av
TéAog_snavaAnyng
T£Aog Babuohoyia
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OEMA 4°

MPOrPAMMA TpiAi{a
METABAHTEZ
AKEPAIES: i j,I,5
XAPAKTHPEE: T[3,3]
AOrIIKEZ: DONE
APXH
NAiAMO 1 MEXPI 3
A jANO 1 MEXPI 3
T[IIJ !
TEAOZ_EMNANAAHWHZ
TEAOZ_EMNANAAHWHZ

NAHOOZ—0
020 DONE<>AAHOHZ KAI NMAHOO0Z<>9 ENMANAAABE
APXH_ENANAAHWHZ
FPAWE 'AwOTE OUVTETAYUEVEC
AIABAZE T2
MEXPIZ_OTOY T[I,x]="-
MAHOOZ~MNAHOOZ+1
AN MAHOO0Z MOD 2=1 TOTE
T[r,2]<'X'
AAANIQZ
T[r,5]<'O'
TEAOZ_AN
DONE«NIKHZE(T,T,)
TEAOZ_ENANAAHWHZ
AN DONE=AAHOHZ TOTE
AN MNMAHO0Z MOD 2=1 TOTE
FPAWE 'KEPAIZE O MPQTOX NAIKTHZ'
AANAIQZ
FPAWE 'KEPAIZE O AEYTEPOZ MAIKTHZ'
TEAOZ_AN
AANAIQZ
FPAWE 'TZOMNAAIA'
TEAOZ_AN
TEAOZ_IMNPOrPAMMATOZ TpiMila

TYNAPTHZH NIKHZE(T,,%):AOTIKH
METABAHTEZ
XAPATHPEZ:T[3,3]
AKEPAIES: i j
APXH
AN T[1,2]=T[2,2] KAI T[2,5]=T[3,Z] TOTE
NIKHZE—AAHOHZ
AAAIQZ_AN T[I,1]=T[l,2] KAI T[T,2]=T[r,3] TOTE
NIKHZE—AAHOHZ
AAAIQZ_AN T[1,1]=T[2,2] KAI T[2,2]=T[3,3] TOTE
NIKHZE —AAHOHZ
AAAIQZ_AN T[1,3]=T[2,2] KAI T[2,2]=T[3,1] TOTE
NIKHZE —AAHOHZ
AAAIQZ
NIKHZE —WEYAHZ
TEAOZ_AN
TEAOZ_ZYNAPTHZHZ



